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3Hd:

AG® = — nF x (2.303 RT)nF log(Kc)

a1

AG® = -RTInKc

UH 1: Mg(s) / Mg>* (0.001M) // Cu** (0.0001) /Cu(s)
31X : Anode Mg — Mg>* + 2e~

Cathode Cu?** +2e~ — Cu

E°cen = Mg + Cu?* — Mg?* + Cu

A iR

Ecen = E%cen — (0.059/n) log [Mg?*/Cu®"]
E°cell = E°Cuz+/cu — E%Mgo+/Mg

E°Cenl = +0.34 — (-2.36)

E°cen = +2.70

Ecenn = +2.70 — (0.059/2)log(0.001)/(0.0001)
Ecell = +2.70 — 0.059/2 log10o

Ecen = +2.70 — 0.0295 X 1

Ecen = 2.6705 volt

question 2 : Sn(s) / Sn**(0.05M) // H*(0.020M) / H,(g) / Pt(s)

answer : Anode Sn — Sn** + 2e”

Anode 2H* + 2e” — H,

Cell = Sn + 2H* — H, + Sn?*

A GHiBRT A

Ecenn = E°cen — (0.059/n) log [Sn**/ (H")?]

EOCell: EOH+/1/2H2 - EOSn2+/Sn
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E°Cen = 0 — (-0.14)

E°ce = +0.14 volt

ARE GHBRUT

Ecen = +0.14 — (0.059/2)log (0.050)/(0.02)?
E¢ep = +0.14 — 0.05186

E¢ep = +0.8

Question 3 : Fe(s) / Fe**(0.001M) // H*(1M) /H.(g)
Answer : anode Fe — Fe** + 2e~

Cathode 2H" + 2™ — H,

Cell = Fe + 2H* — H, + Fe?**

A gHiBR A

Ecell = E%enn — (0.059/n) log [Fe**/(H")?]
E°cenn = E%Hu/1on2 — E°Feas/Fe

E°ce = 0 — (-0.44)

E°ce = +0.44 volt

A gHiBR A

Ecell = +0.44 — (0.059/n) log [0.001M /1M]
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